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QUESTION 1

Which multi-mapping option can you use to combine multiple messages into one message? Choose the correct
answers. 

A. n:1 

B. 1:n 

C. n:m 

Correct Answer: A 

 

QUESTION 2

Which of the following XSLT tags allow you to import additional XSLT files? Choose the correct answers. 

A.  

B.  

C.  

Correct Answer: B 

 

QUESTION 3

The Enterprise Service Repository (ESR) is in the Process Composer perspective. Determine whether this statement is
true or false. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

Which Connection Object characterizes the Data Flow in a BPMN 2.0 data model? Please choose the correct answer. 

A. A solid line with an arrow 

B. A dashed line with an arrow 

C. A starting point, a dashed line and an arrow 

D. A dashed line 

Correct Answer: B 
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QUESTION 5

Which algorithms does the advanced automapping functionality use to match the source and the target 

elements within an integration flow (iFlow)? 

Note: There are 2 correct answers to this question. 

A. Attribute Matcher 

B. Name Path Matcher 

C. Child Matcher 

D. Leaf Matcher 

Correct Answer: BD 
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